ltem No.	Qty.	Unit	Detailed Specifications	Unit Price	Total Price
	SNOW BLC	WER, 3	POINT, 2 STAGE, HEAVY DUTY		
	Make: Schu	<u>ulte</u> Mod	del: <u>RDX117</u>		
	Delivery da	ys after	receipt of order <u>130</u> days		
	2	EA	Bismarck District	\$15,616.80	\$31,233.60
1	3	EA	Devils Lake District	\$15,616.80	\$46,850.40
	2	EA	Minot District S	\$15,616.80	\$31,233.60
	3	EA	Dickinson District	\$15,616.80	\$46,850.40
	3	EA	Grand Forks District	\$15,616.80	\$46,850.40
	2	EA	Williston District	\$15,616.80	\$31,233.60
		-	POINT, 2 STAGE, HEAVY DUTY		
-			RGE, Bidder agrees to hold this price through May 1, 2018. Delivery loca	tion and freigh	t to be determined a
2	time of pur	rchase.			
	Qty. Unknown	EA	FOB: TBD		\$ NO BID
3	Trade-In SI	NOW BLO	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		
Opt. 1				Deduct	-\$500.00
4	Trade-In SI	NOW BLO	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		
Opt. 2				Deduct	-\$500.00
5	Trade-In SI	NOW BLO	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		
Opt. 3				Deduct	-\$500.00
6	Trade-In SI	NOW BLO	DWER, 3 POINT, 2 STAGE, HEAVY DUTY		
Opt. 4				Deduct	-\$500.00
7	Trade-In SI	NOW BLO	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		
Opt. 5				Deduct	-\$500.00
8	Trade-In SI	NOW BLO	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		
Opt. 6				Deduct	-\$500.00
9	Trade-In SI	NOW BLO	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		
Opt. 7				Deduct	-\$500.00
10	Trade-In SI	NOW BLO	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		
Opt. 8				Deduct	-\$500.00

11	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 9	Deduct	-\$500.00
12	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 10	Deduct	-\$500.00
13	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 11	Deduct	-\$500.00
14	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 12	Deduct	-\$500.00
15	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 13	Deduct	-\$500.00
16	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 14	Deduct	-\$500.00
17	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 15	Deduct	-\$500.00
18	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 16	Deduct	-\$500.00
19	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 17	Deduct	-\$500.00
20	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 18	Deduct	-\$500.00
21	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 19	Deduct	-\$500.00
22	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 20	Deduct	-\$500.00
23	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 21	Deduct	-\$500.00
	Total for all items less trades	\$233,752.00

ltem No.	Qty.	Unit	Detailed Specifications	Unit Price	Total Price
	SNOW BLC	OWER, 3	POINT, 2 STAGE, HEAVY DUTY		
			del: <u>RDX117</u>		
	Delivery da		receipt of order <u>120</u> days		
	2	EA	Bismarck District	\$14,900.00	\$29,800.00
1	3	EA	Devils Lake District	\$14,900.00	\$44,700.00
	2	EA	Minot District	\$14,900.00	\$29,800.00
	3	EA	Dickinson District	\$14,900.00	\$44,700.00
	3	EA	Grand Forks District	\$14,900.00	\$44,700.00
	2	EA	Williston District	\$14,900.00	\$29 <i>,</i> 800.00
			POINT, 2 STAGE, HEAVY DUTY		
			RGE, Bidder agrees to hold this price through May 1, 2018. Deliv	very location and freigh	t to be determined
2	time of pu	rchase.			
	Qty.	EA	FOB: TBD		\$14,900.00
	Unknown				<i>+</i> <u>-</u> .) <i>o c c c c</i>
3	Trade-In S	NOW BL	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		
Opt. 1				Deduct	-\$1,000.00
4	Trade-In S	NOW BLO	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		4000.00
Opt. 2				Deduct	-\$200.00
5	Trade-In S	NOW BLO	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		4
Opt. 3				Deduct	-\$1,000.00
6	Trade-In S	NOW BL	OWER, 3 POINT, 2 STAGE, HEAVY DUTY	.	¢1,000,00
Opt. 4	Tudet C			Deduct	-\$1,000.00
7	Trade-In S	NOW BLO	OWER, 3 POINT, 2 STAGE, HEAVY DUTY	D . 1. 1	¢1,000,00
Opt. 5	Tuesday 1 - C			Deduct	-\$1,000.00
8	i rade-in S	NOW BLO	OWER, 3 POINT, 2 STAGE, HEAVY DUTY	D . 1. 1	¢1,000,00
Opt. 6	Tudet C			Deduct	-\$1,000.00
9 Out 7	Trade-In S	NOW BL	OWER, 3 POINT, 2 STAGE, HEAVY DUTY	.	¢1,000,00
Opt. 7	.			Deduct	-\$1,000.00
10	Trade-In S	NOW BL	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		4
Opt. 8				Deduct	-\$1,000.00

11	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 9	Deduct	-\$2,500.00
12	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 10	Deduct	-\$2,500.00
13	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 11	Deduct	-\$1,000.00
14	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 12	Deduct	-\$500.00
15	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 13	Deduct	-\$1,000.00
16	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 14	Deduct	-\$500.00
17	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 15	Deduct	-\$1,000.00
18	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 16	Deduct	-\$200.00
19	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 17	Deduct	-\$1,000.00
20	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 18	Deduct	-\$1,000.00
21	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 19	Deduct	-\$1,000.00
22	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 20	Deduct	-\$1,000.00
23	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 21	Deduct	-\$1,000.00
	Total for all items less trades	\$217,000.00

ltem No.	Qty.	Unit	Detailed Specifications	Unit Price	Total Price
	SNOW BLC)WER, 3	POINT, 2 STAGE, HEAVY DUTY		
	Make: Smy	<u>the</u> Mo	del: <u>120 HDD</u>		
	Delivery da	ays after	receipt of order <u>60 days</u>	-	
	2	EA	Bismarck District	\$13,760.00	\$27,520.00
1	3	EA	Devils Lake District	\$13,760.00	\$41,280.00
	2	EA	Minot District	\$13,760.00	\$27,520.00
	3	EA	Dickinson District	\$13,760.00	\$41,280.00
	3	EA	Grand Forks District	\$13,760.00	\$41,280.00
	2	EA	Williston District	\$13,760.00	\$27,520.00
2	time of pur Qty.		RGE, Bidder agrees to hold this price through May 1, 2018. Delivery		
	Unknown	EA	FOB: TBD		\$12,760.00
3	Trade-In SI	NOW BL	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		
Opt. 1				Deduct	-\$250.00
4	Trade-In SI	NOW BL	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		
Opt. 2				Deduct	-\$250.00
5	Trade-In SI	NOW BL	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		1
Opt. 3				Deduct	-\$250.00
6	Trade-In SI	NOW BL	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		[
Opt. 4				Deduct	-\$250.00
7	Trade-In Sl	NOW BLO	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		
Opt. 5				Deduct	-\$250.00
8	Trade-In Sl	NOW BLO	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		6050.00
Opt. 6	Turk			Deduct	-\$250.00
9 Ort 7	Trade-In Sl	NOM RTO	OWER, 3 POINT, 2 STAGE, HEAVY DUTY	Dadau	¢250.00
Opt. 7	Trade In C			Deduct	-\$250.00
10 Opt 8	i rade-in Si		OWER, 3 POINT, 2 STAGE, HEAVY DUTY	Daduct	¢250.00
Opt. 8				Deduct	-\$250.00

11	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 9	Deduct	-\$250.00
12	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 10	Deduct	-\$250.00
13	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 11	Deduct	-\$250.00
14	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 12	Deduct	-\$250.00
15	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 13	Deduct	-\$250.00
16	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 14	Deduct	-\$250.00
17	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 15	Deduct	-\$250.00
18	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 16	Deduct	-\$250.00
19	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 17	Deduct	-\$250.00
20	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 18	Deduct	-\$250.00
21	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 19	Deduct	-\$250.00
22	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 20	Deduct	-\$250.00
23	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 21	Deduct	-\$250.00
	Total for all items less trades	\$213,910.00

ltem No.	Qty.	Unit	Detailed Specifications	Unit Price	Total Price
			POINT, 2 STAGE, HEAVY DUTY		
			del: <u>RDX117</u>		
	Delivery d	-	receipt of order <u>TBD_</u> days		Γ
	2	EA	Bismarck District	\$14,875.00	\$29,750.00
1	3	EA	Devils Lake District	\$14,875.00	\$44,625.00
	2	EA	Minot District	\$14,875.00	\$29,750.00
	3	EA	Dickinson District	\$14,875.00	\$44,625.00
	3	EA	Grand Forks District	\$14,875.00	\$44,625.00
	2	EA	Williston District	\$14,875.00	\$29,750.00
		-	POINT, 2 STAGE, HEAVY DUTY		
_			RGE, Bidder agrees to hold this price through May 1, 2018.	Delivery location and freigh	t to be determined
2	time of pu	irchase.	1		
	Qty.	EA	FOB: TBD		\$14,875.00
	Unknown				
3	Trade-In S	NOW BL	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		
	Deduct -\$600.00				
Opt. 1	Tue de la G			Deddet	-\$600.00
4	Trade-In S	NOW BL	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		
4 Opt. 2				Deduct	-\$600.00
4 Opt. 2 5			OWER, 3 POINT, 2 STAGE, HEAVY DUTY OWER, 3 POINT, 2 STAGE, HEAVY DUTY	Deduct	-\$600.00
4 Opt. 2 5 Opt. 3	Trade-In S	NOW BL	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		
4 Opt. 2 5 Opt. 3 6	Trade-In S	NOW BL		Deduct Deduct	-\$600.00
4 Opt. 2 5 Opt. 3 6 Opt. 4	Trade-In S Trade-In S	NOW BLO	OWER, 3 POINT, 2 STAGE, HEAVY DUTY OWER, 3 POINT, 2 STAGE, HEAVY DUTY	Deduct	-\$600.00 -\$600.00
4 Opt. 2 5 Opt. 3 6 Opt. 4 7	Trade-In S Trade-In S	NOW BLO	OWER, 3 POINT, 2 STAGE, HEAVY DUTY	Deduct Deduct Deduct	-\$600.00 -\$600.00 -\$600.00
4 Opt. 2 5 Opt. 3 6 Opt. 4 7 Opt. 5	Trade-In S Trade-In S Trade-In S	NOW BLO	OWER, 3 POINT, 2 STAGE, HEAVY DUTY OWER, 3 POINT, 2 STAGE, HEAVY DUTY OWER, 3 POINT, 2 STAGE, HEAVY DUTY	Deduct Deduct	-\$600.00
4 Opt. 2 5 Opt. 3 6 Opt. 4 7 Opt. 5 8	Trade-In S Trade-In S Trade-In S	NOW BLO	OWER, 3 POINT, 2 STAGE, HEAVY DUTY OWER, 3 POINT, 2 STAGE, HEAVY DUTY	Deduct Deduct Deduct Deduct	-\$600.00 -\$600.00 -\$600.00 -\$600.00
4 Opt. 2 5 Opt. 3 6 Opt. 4 7 Opt. 5 8 Opt. 6	Trade-In S Trade-In S Trade-In S Trade-In S	NOW BLO	OWER, 3 POINT, 2 STAGE, HEAVY DUTY OWER, 3 POINT, 2 STAGE, HEAVY DUTY OWER, 3 POINT, 2 STAGE, HEAVY DUTY OWER, 3 POINT, 2 STAGE, HEAVY DUTY	Deduct Deduct Deduct	-\$600.00 -\$600.00 -\$600.00
4 Opt. 2 5 Opt. 3 6 Opt. 4 7 Opt. 5 8 Opt. 6 9	Trade-In S Trade-In S Trade-In S Trade-In S	NOW BLO	OWER, 3 POINT, 2 STAGE, HEAVY DUTY OWER, 3 POINT, 2 STAGE, HEAVY DUTY OWER, 3 POINT, 2 STAGE, HEAVY DUTY	Deduct Deduct Deduct Deduct Deduct	-\$600.00 -\$600.00 -\$600.00 -\$600.00 -\$600.00
4 Opt. 2 5 Opt. 3 6 Opt. 4 7 Opt. 5 8 Opt. 6	Trade-In S Trade-In S Trade-In S Trade-In S Trade-In S	NOW BLO	OWER, 3 POINT, 2 STAGE, HEAVY DUTY OWER, 3 POINT, 2 STAGE, HEAVY DUTY OWER, 3 POINT, 2 STAGE, HEAVY DUTY OWER, 3 POINT, 2 STAGE, HEAVY DUTY	Deduct Deduct Deduct Deduct	-\$600.00 -\$600.00 -\$600.00 -\$600.00 -\$600.00

11	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 9	Deduct	-\$600.00
12	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 10	Deduct	-\$600.00
13	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 11	Deduct	-\$600.00
14	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 12	Deduct	-\$600.00
15	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 13	Deduct	-\$600.00
16	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 14	Deduct	-\$600.00
17	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 15	Deduct	-\$600.00
18	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 16	Deduct	-\$500.00
19	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 17	Deduct	-\$500.00
20	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 18	Deduct	-\$500.00
21	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 19	Deduct	-\$500.00
22	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 20	Deduct	-\$500.00
23	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 21	Deduct	-\$500.00
	Total for all items less trades	\$226,000.00

Item No.	Qty.	Unit	Detailed Specifications	Unit Price	Total Price
	SNOW BLC	WER, 3	POINT, 2 STAGE, HEAVY DUTY		
	Make: Sch	ulte Mo	del: <u>RDX117</u>		
	Delivery da	iys after	receipt of order <u>100</u> days		
	2	EA	Bismarck District	\$14,525.00	\$29,050.00
1	3	EA	Devils Lake District	\$14,525.00	\$43,575.00
	2	EA	Minot District	\$14,525.00	\$29,050.00
	3	EA	Dickinson District	\$14,525.00	\$43,575.00
	3	EA	Grand Forks District	\$14,525.00	\$43,575.00
	2	EA	Williston District	\$14,525.00	\$29 <i>,</i> 050.00
		•	POINT, 2 STAGE, HEAVY DUTY		
			RGE, Bidder agrees to hold this price through May 1, 2018. Delivery lo	ocation and freigh	t to be determined
2	time of pu	rchase.			
	Qty.	EA	FOB: TBD		\$14,525.00
	Unknown				ŶŦ <i>1,525.</i> 00
3	Trade-In SI	NOW BL	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		-
Opt. 1				Deduct	-\$1,000.00
4	Trade-In SI	NOW BL	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		
Opt. 2				Deduct	-\$1,000.00
5	Trade-In SI	NOW BL	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		
Opt. 3				Deduct	-\$500.00
6	Trade-In SI	NOW BLO	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		4
Opt. 4				Deduct	-\$1,000.00
7	Trade-In Sl	NOW BLO	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		4
Opt. 5				Deduct	-\$1,000.00
8	Trade-In Sl	NOW BLO	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		4000.00
Opt. 6				Deduct	-\$800.00
9	Trade-In Sl	NOW BLO	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		4
Opt. 7				Deduct	-\$1,000.00
10	Trade-In Sl	NOW BL	OWER, 3 POINT, 2 STAGE, HEAVY DUTY		4
Opt. 8				Deduct	-\$1,000.00

11	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 9	Deduct	-\$1,500.00
12	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 10	Deduct	-\$1,500.00
13	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 11	Deduct	-\$500.00
14	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 12	Deduct	-\$500.00
15	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 13	Deduct	-\$1,000.00
16	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 14	Deduct	-\$500.00
17	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 15	Deduct	-\$500.00
18	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 16	Deduct	-\$1,000.00
19	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 17	Deduct	-\$800.00
20	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 18	Deduct	-\$800.00
21	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	
Opt. 19	Deduct	-\$500.00
22	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	4
Opt. 20	Deduct	-\$500.00
23	Trade-In SNOW BLOWER, 3 POINT, 2 STAGE, HEAVY DUTY	4
Opt. 21	Deduct	-\$500.00
	Total for all items less trades	\$215,000.00